Calculating NH Municipal Tax Impact (for Librarians)
10/30/2020

. Visit The NH Department of Revenue Administration Municipal Property Tax Rates &
Related Data web page:
https://www.revenue.nh.gov/mun-prop/municipal/property-tax-rates.htm

. Find the most recent year that has tax rates for your municipality and click on either the
pdf or excel file for that information. Tax rates are usually set by NH DRA 1in October or
November each year. You will want to use the most current rate for calculations...but
sometimes those rates are not available until late November, after towns have started their
budget process and department budget presentations.

. Find your municipality in the data list, and look at the figure in the “Valuation w/Utils”
column. For example (see next page), in 2019 for Bow, NH the figure in that column is
$1,274,587,874. Divide that number by 1,000 (since taxes are calculated per $1,000 of
assessed value.

$1.274,587,874 divided by $1,000 = $1,274,588 (rounded)

. $1,274,588 is the amount of money $1.00 of the tax rate will generate. Divide this
number by 100 to get $12,275. This is the amount of money a penny on the tax rate
will generate.

. So if you have a warrant article for the library for $50,000, you can determine the tax rate
impact by dividing $50,000 by $12,275...4 cents is the additional amount that would be
added to the tax rate if the article is passed.

$50,000 divided by $12,275 = $0.04 or 4 cents

. To figure out how much the $50,000 warrant article would impact the overall tax bill of
the average homeowner, first determine what the average home price in your town is.
Visit your town’s assessing office web page, or contact the assessing office, and ask for
the median sale price of a single family home in your town. For example, in Bow for the
period 10/1/18 —7/31/2019, the median sale price of a single family home was $360,000.

. If we use the $50,000 warrant article from above, with the $0.04 tax rate impact, to
calculate the amount that would be added to the tax bill for a $360,000 home:

$360,000 divided by $1,000 of assessed value = $3,600
$0.04 x $3,600 = $144 is the annual amount it will cost this homeowner if this warrant

article is passed. Divided into two tax payments per year, this means that the homeowner
will see an increase of each of those bills by $72.
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